P3620 | 2-Way Monopoint (MPCCA)

Assembly Number 72455 - 48" Cable (2 per fixture)

8 19031 Mounting Strap, 1/4-20 Speed Nut, 1
1/4-20 x 5/8” Pan HD. Screw

7 53243  Metal Strain Relief Bushing 1

6 53345  White Snap Bushing 1

5  28975A 5-1/2"Dia.White Canopy 1

4 53359  Threaded Bushing 1

3 53360  White Universal Bushing 1

2 53263 18 GA. 3 Wire SJT Cord 6” 1

1 57498  Coupler W/ 53" Cable 1

3-Way Cable Adapter 1

1/4-20 Keps Lock Nut 2

2

Pivoting Cable Glider

Assembly Number 72457 Cable (2 per fixture)

8 19031 Mounting Strap, 1/4-20 Speed Nut, 1
1/4-20 x 5/8”Pan HD. Screw

7 53243  Metal Strain Relief Bushing 1

6 53345  White Snap Bushing 1

5  28975A 5-1/2"Dia.White Canopy 1

4 53359  Threaded Bushing 1

3 53360  White Universal Bushing 1

2 43039 18 GA.3Wire SJT Cord 10" 1

1 57497  Coupler W/ 53" Cable 1

3-Way Cable Adapter 1

1/4-20 Keps Lock Nut 2

2

Pivoting Cable Glider

Assembly Number 72459 - 144" Cable (2 per fixture)

8 19031 Mounting Strap, 1/4-20 Speed Nut, 1
1/4-20 x 5/8”Pan HD. Screw

7 53243  Metal Strain Relief Bushing 1

6 53345  White Snap Bushing 1

5  28975A 5-1/2"Dia.White Canopy 1

4 53359  Threaded Bushing 1

3 53360  White Universal Bushing 1

2 43056 18 GA.3Wire SJT Cord 14" 1

1 57447  Coupler W/ 96" Cable 1

3-Way Cable Adapter 1

1/4-20 Keps Lock Nut 2

2

Pivoting Cable Glider

Pull cable .

and trim ,

Support wire
(by others) —————

Pull cable

“ / and trim

4
|
Ma)%ceiling
YT s to fixture
6"Min, Ceiling #72454: 48"
#72456:96"
#72458: 144"
/ . s
MOUNTING
LIMIT
— 20 — )

Mounting strap
(See warning note below)

1/4-20 x %~
Pan head bolt

1/4-20

>
/ Speed nut -
@ g

T #8-

g (by others)

— 5-1/2"Canopy -

L P/N - 19031

32 x 78" Screw

Romex connector
(by other)

P/N - 28975A }---*

WARNING: Ground fixture in according with local and national electrical codes. Failure to do so may result in serious personal injury.

US

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit www.prulite.com for most current data.
© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058



